wod preoqpueyeyl mmm/:dny

http://www.jharkhandboard.com

qqT A ( WAl {a (oI«
Group A ( Physics & Chemistry )

0 | .

i

(ii)
(iii)
(iv)

(v)

T B S § fer UUT o AT e A E 7
( I UF V=€ q1 U 99 H ST ) .
ot T & o1 oml #) g & fw T AT SR S
HI ST FA ¥ 2 (IR U UK A1 G 1 A Qg ) 1
W i & fen e ot w5 =gEe g o Bl € 2
( I TF W% 7 T a9 § 3T ) 1
fover @1 o1 o fifgw) ( 39 OF 9 A1 U aed H
st ) 1
%ﬁg%@mwm%@qmwwﬁmwmﬁ
: 1

1

- Which mirror is used in the headlights of vehicles ? .

(Answer in one word or in one sentence ) ' 1
Which type of lens will you apply for reading small lctters of
a dictionary ? ( Answer in one word or in one sentence ) I
What is' the least distance for distinct vision for normal
eye ? |

(.Answer in one word or in one sentence ) ‘ 1
Write S.I. unit of potential diffcrence; |
( Answer in one word or in one sentence )
Namc one source of direct current.

{ Answer in one word or in one sentence )
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gifeTa ) 1
(v) 3TyPTE 3TTad WRON &F dedl o STl T YR HTE 2
( I US v A7 USF iad | S0 ) 1
Q. (1} What type of chemical reaction is respiration ?
( Answer in one word or in one sentence ) 1
{ii} - What is the pH value of neutral solution ? ( Answer in one
word or in cne sentence ) - . 1
{iiij Namec an alloy of lead and tin. ( Answer in onc word or in
one sentence ) T 1
{ivy What is the general formula of alkyne ? ( Answer in one
word or in cne sentence ) 1
(v) What is the basis of classification of elements of modern
periodic table ? ( Answer in one word or in one sentence ) 1
3L
Ans.
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vt | 3. mﬁazﬁmﬁaﬂﬁ@“ﬁﬁﬁmﬁm%ﬁ 2
a&;ﬁqﬂwqﬁﬁmw%éﬁw cave mirror
) . 19
Q. |3. Draw a neat ray diagram of an image formed by :‘;zf curvature.
when the object is placed between focus and centr )
——
ELLE
Ans,
| 4. Fefeies vt sdiet s dqtae it 2x1
(a] Na + 02 — N320 .
(b) K+ H,0— KOH +H,
Q. |a. Balance the following chemical equations : 2x1
(a) Na + O, — Na,O |
(b) K+ H,0— KOH + H,
I | —
Ans,
e —— "
— — .
___-i-h.__‘__-—-__ .--‘./
—— —
-___'—-—-_..____
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T It GHET STHAT | AT AT & 2 ( Iu HUFHAT 40 VST T
.ﬁﬁm) _ 2
What is meant by power of accommodation of .an eye ? ( Answer
in maximum 40 words ) 2
AT
Ans.
=
S
u ' :
6. muﬁamﬁgwaﬁ%aqmwmﬁmﬁwaﬁrm é
40 =T H gifew ) 5 S
Q. |e. What are amphoteric oxides ? Give an example. ( Answer in E";r
maximum 40 words ) : 2 2
AT 2
Ans. g
2
o
=
=
W
7. memqﬁw@m% 2 (TR A 40 v 5
o | 3ifem ) :
. 7.
Why is the co]our of clear sky blue ? ( Answer in maximum
— 40 words )
1 O T et A 2
Ang, | __ e
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Q. |8. Why do vou think the noble gases are placed in a separate
- group ? ( Answer in maximum 40 words ) 2

————

-m'g_ SCmWaﬁéaﬁlﬁcmﬂﬂﬁ&wmﬁ@mﬁQScm
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-gﬂwr@mﬁguufaﬁmmﬁaﬁr mwmmﬁﬁm 3
Q. |9 An object 5 cm in length is placed at a distance of 25 c¢m from a

converging lens of focal length 10 e¢m. Find the Position of image,

nature and size of the i image. hup/ www.jh: arkhandboard.com 3 ,
Iqv . —
Ans, | ' _
4. |
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T TRE & ’AT uw el dfwa (IR Afuswan 50 vt A
i1 ) 3
Q. 10. Explain oxidation and reduction in terms of gain or loss of
oxygen. Mention one example for each one.  ( Answer in
maximum 50 words ) . 3
Eca
Ans.

Wy |11 3n,5nﬁmgnnﬁﬂu$aﬁ?w&1ﬁuﬁﬁ%ﬁwﬁﬁﬁﬂﬁaﬁﬁ%
éﬂ?ﬁ?aﬂ%qﬁﬁv(ans.q(b)%gﬁ? 1+2

Q. |11. How can three resistors of resistances 3 Q, 6 Q and ¢ Q are

connected to give a total resistance of (a) 18 Q, (b) % Q? 1+2

e

 — T — -
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JAC — T o @ 1 E € >
> eadl 373 K @9 T L.
W |12, forww @ oen & 2 ¥ ) 2
(vt afuan so TRl H UG
ygdar
3 x|
P @1 wTr A T E 2 .
b1 Na,COa4.10H,0 (c) NaH&%73
(a) Ca(OH) (o] 27 is hcated to
: hat happens when gypsum
Q. 12. What is gypsum ? Wha p ds ) 142
373 K ? ( Answer in maximum SO words
oR 3 x 1
. 3 x
What are the common namcs of the following ? HEO
(a) Ca(OH), (b) Na,CO,.10H,0 (c) NaHCO;, _
T
Ans,
T 113, gEeg 87 @i & o9 o #) o
i) T H efEe (IR sfusm so e &
3
AYAT
faeper aftaw & cgues iR sfawror oy TR ) (
50 ¥R # gifern) SR Ay
Q' : . l" + l
'3 _Wntf,- three properties of magnetic lines of f P
maximum 50 words ) orces. ( Answer in
OR 3
When does an electric short circuit and oy )
I (Azsaer in msedmum 50 words) crloadmg occur ?

_ 13+ 13
|n A —SCIENCE (Theory)  20031(1m
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A
(I ey 50 vt 7 difom) 3
Q. [14. Why is the conversion of ethanol to ethanoic acid called as
oxidation reaction ? { Answer in maximum 50 words ) 3
I
Ans,
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| we | 15. ﬁqwﬁwﬁmaﬂtgﬂﬁmﬁﬁﬁwm',(m 2 +3 E
70 =1 T T ) m | i

Sx1
fw g fom & amuR W A SR ‘

(@) ~ a3 =1 Sugew I T

(b) [1]Td [2] % 7F fafEa |

() Tod atE + el 39 IUHOT R uﬁa’fﬁﬁﬁmﬁ’f% ?
(d) 39 U & UF IganT fafEu

(€) =R =t ufewiie Hifem )

( I fusmas 70 vl | A0 )

Q. | 15. State Ohm's law and give its experimental verification. ( Answer

! in maximum 70 words ) "2+ 3
! OR - '
Answer the followmg questions on the basis of the given
diagram : 5x1

L

(a) Write appropnate name of the diagr
a,
(o) Write the names of [1] and [2]. sram.
(¢) Which type of energy is

tr
apparatus ? ansformed

through this

(d‘) Write one use of this apparatus,
_J 'urr‘ Dstine Aivmature.
..... L.Answeor “n resaximum 70 words )

ey i

Mll"ll“l“ A — SCIENCE (Theorvi  2nna i« n. T —
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Ans.

W | 16, 15U MU fam ® wEU & faeA @) greiedl o gam framr e
(1], (2], (3], [4] wd (5] T A1HIHT HitaT | S x 1

Sx1
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JAC —
: the experiment of conductivity of a sallt
@ Tie. In the given Rgufe ' gainst (1], [2], [3], [4] and [S) 5 x
solution is shown. Label ag o
OR .
Write the structural formulae of the following compounds : el
(a) Ethanoic acid (b) Bromopentane
(©) Butanon (d) Hexanal
(e) Propanol.
IaT
Ans.
___-.--_-_‘_‘_'——
. T
\\—-___—-ﬂ'
W'uslu b --SLILNCE (Theory) 20031(10) : .
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Group B ( Biology — World of livings and Natural Resources )

TR o 9 S gl 3eoieA &1 9 fafEau) ( 3T U U 91 T

(o7 [17. ()
are § <ifea ) 1
(i) IR FT W@ Gy R F § 2 (I TH IS AT U 9 H
ST ) N
(i) EloUHoUo el urgr W & 2 ( ST TH K I TH AE H
R ) | 1
(iv) S0F el u o § 2 (IR O 9SS A1 UE g H g ) 1
(v) Sl & UH FF &AM EEe| ( W T IR I U 9 H
e ) 1
Q. 17, (1) Name the enzyme found in saliva. ( Answer in one word or
In one sentence ) L 1
(ii)  What is the principal coordinating centre of body ? ( Answer
in one word or in one sentence ) 1
(iii) Where is D.N.A. found ? ( Answer in one word or in one
sentence ) l 1
(iv) Where are genes found ? | Answer in one word or in one
sentence ) - . 1
(v} . Name one source of energy. ( Answer in one word or in one
sentence ) 1
ELd
Ans.
O
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- T o feffg | ( I A 40T
¥ o IS a1 I
W |18, HHEE-gEU % FTFE © 5
4 iliﬁlQ ) i any ww
Q . of human testes ? Write y 6)
) 18. What are the functions 0 words | 2
functions. ( Answer in maximum 40 w —_
3IdT o
Ans.
l = =
=
I
W |10, 73 W Ay @9 @ #7419 & 2 i ot oy fange ) (3w sifusman ;:
40 Y111 | IS0 ) 9 2
Q. 19.  What are the benefits of constructing a dam on the river ? Write E
any two benefits. ( Answer in maximum 40 words ) 2 g"
3T ?T‘
Ans. Q:;
o =
ol
=y
o
&
— -
e
o
- 8
=
__-_-_-—-_--_'I——
= :
20. SY9-9-TWIET 9% ¥ ¢ 2 GRS ) (3o __—
o gifsrg ) s 40 vt A
20. :&L’)hat 1s Bio-geochemical cycle ? Define. (A 2
I words ) http://www jharkhandboard.com fISWer in maximum
Ans. _‘__-___‘-——-.___ 2 s
---_-___-_-_-- _________ \/

e \/
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e |21, WIHME GEET W@ ¥ 2w sl ( S fusam 40 WSl H

At ) : o 2
Q. [21. What is Natural Resource ? Explain. [ Answer in maximum
40 words ) - - 2
I '
Ans.

1 125 o (OO 7 ¥ 7 T 7% O o efan | (S S 50 I A
fﬂ‘fﬂ'{) _1+2

Q. 22. What is blood ? Write its any two functions. (Answer in
maximum 50 words ) 1+2

Ans.

s,
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JAC : il
m % d AT 3x1
v | 23, wfaadr fear R I ceflex A
- X .
so vl # gifa) on Reflex Action and Rell¢ 3 :C1 .
Q 23. Write three differences th“c?iLs: ‘I
(Answer in maximum M:
————
I /_ ~
Ans. /—————h.\
_’—_4_‘:____———’——'__—_"-\
____‘___,_,_a-——'-—"__‘_____"'-\
_____,_,__—-—-—'-"_'_-:_——_"“'-.
T (24, TR R G UR F RN IR T 2 M@ & HE A A W T GHEN
I & Tt € 2 (I fuhan so vl H ifoTw) 1+2
Q. ;24. What is the function of receptor in our body ? What problems
can originate when receptors do not work ? (Answer in
maximum S50 words) 1+2
ELd
Ans,
__-___‘_-—__ pa——
—_— -
_——__-—‘—'-—._‘___ I
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o)
w7 | 25. T3 F sTelie Fim s 7 9 s s % S e
: @% ~ | |
I & [TH ’ ;
(@) 1R 1 fFT w=et & g e 2
(b) A FHW TR F i ¥ 7 gioenfd Q) 1+ 2
JHeUdr '
SI9 WEE WY 2 9% ¥ A & 2 IR (IW aAfyswan so vl A
étl:—"@ 1+2
Q. 25. Observe the diagrams and answer the questions based on them. -
| S
/ €
| £
T, ¢ iy =
| 8
(a) _To which animals do organs I and Il belong ? Z
(b)  What types of organs arc these ? Define. 1+ 2 8
' OR : =
What is Gene Flow ? How'does it occur ? Discuss. (Answer in g
: maximum 50 words) 1+2 E..
IR | ' 8
Ans. =
) _
s /—\::—- —'- i - . .
WA . science mheory  20031(10) 19.of 24
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-
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W |26, oftar O giwer @ fafus s w1 qO s
70 ¥Rl H Q)
Fadar
I 3T WHEY S w1 IO Wed q0A fg | (ITR D
70 ¥l § difora) | S
Q. |26. Describe different stages of nutrition in amoeba. (Answer in
maximum 70 words) S
OR
Describe with examples the homologous and analogous organs.
(Answer in maximum 70 words) : 5)
I
Ans.
—___‘_‘_-_‘_-_‘-_-_-—_
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